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QUESTION 1

View the Exhibit. 

For the XML shown, which XPath expression returns exactly one node? 

A. /purchaseOrder/orderDate 

B. /purchaseOrder/items/item[0]/quantity 

C. /purchaseOrder//item 
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D. /purchaseOrder//comment[not(following: : description) ] 

Correct Answer: B 

 

QUESTION 2

Which statement best describes deploying your SOA application to a cluster? 

A. Manually deploy the application to each managed server in the cluster. 

B. After deployment, restart each managed server in the cluster before the application is available for service. 

C. Use WebLogit Server Administration Console for deployment because you cannot deploy to a cluster from
JDeveloper. 

D. Treat your cluster as a single deployment target and let the administration server automatically deploy the application
to all managed servers in the cluster. 

Correct Answer: D 

Note: 

*

 Oracle SOA Service Infrastructure Cluster-Wide Deployment Composite deployments are stored centrally by the SOA
Service Infrastructure in the MDS repository. Each time the SOA Service Infrastructure is started, it synchronizes itself
with the MDS repository and SOA store to get the deployment and process state. The deployment coordinator
infrastructure orchestrates the notifications for composites deployments and updates. When a new deployment or
update takes place, deployment coordinator notifies all members in the cluster. When all members in the cluster confirm
that the deployment has succeeded, the master sends a notification to start the composite. If a deployment fails on any
one of the nodes, it is rolled back to the rest of the cluster 

*

 Figure: Cluster-Wide Deployment of Oracle SOA Composites 

 

QUESTION 3
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An Oracle Web Services Manager (OWSM) agent __________. 

A. Can apply categories of policies in any specified order 

B. Generates a request to an LDAP directory to look up policy definitions 

C. Always fails if the Policy Manager becomes unavailable 

D. Intercepts requests to and responses from a client or service 

Correct Answer: D 

The OWSM Agent protects access to a web service at the web service provider (server-side Agent) ?Step1: The client
posts a request to a web service ?Step2: The Agent intercepts the request, applies security policies (e.g., decryption,
signature verification, authentication, authorization), and passes the request to the web service ?Step3: The web service
returns a response ?Step4: The Agent intercepts the response, applies security policies (e.g., encryption), and passes
the response to the client 

 

QUESTION 4

Identify the statement that describes an ESB. 

A. An ESB provides a mediation layer between services and consumers. 

B. An ESB facilitates a point-to-point approach to application integration. 

C. An ESB is an execution engine providing Java EE capabilities. 

D. An ESB makes service provider addresses visible to service consumers. 

Correct Answer: A 

*

 An enterprise service bus (ESB) is a software architecture model used for designing and implementing the interaction
and communication between mutually interacting software applications in service-oriented architecture (SOA). As a 

software architecture model for distributed computing it is a specialty variant of the more general client server software
architecture model and promotes agility and flexibility with regards to communication and interaction between
applications. Its primary use is in enterprise application integration (EAI) of heterogeneous and complex landscapes. 

*
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 An enterprise service bus (ESB) is a software architecture for middleware that provides fundamental services for more
complex architectures. For example, an ESB incorporates the features required to implement a service-oriented
architecture (SOA). In a general sense, an ESB can be thought of as a mechanism that manages access to applications
and services (especially legacy versions) to present a single, simple, and consistent interface to end-users via Web- or
forms-based client-side front ends. 

 

QUESTION 5

You just added a business rule component to the components section of the SOA Composite Editor canvas. You open
your business process for editing and notice that there is no partner link to the decision service for the new rule
component. 

What do you do next to make the link appear? 

A. Add an invoke activity to the BPEL model to call the decision service. 

B. Edit the business rule component and specify the If/then rules or the decision table. 

C. Add a business rule component to the BPEL model. 

D. Add a partner link to the BPEL model. 

Correct Answer: D 

How to Create a Partner Link To create a partner link: 

1.

 In the SOA Composite Editor, double-click the BPEL process service component. Oracle BPEL Designer is displayed. 

2.

 In the Component Palette, expand BPEL Services. 

3.

 Drag a Partner Link into the appropriate Partner Links swimlane 
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The Create Partner Link dialog appears. 

4. Complete the fields for this dialog 

Note: 

*

 A partner link enables you to define the external services with which the BPEL process service component is to
interact. You can define partner links as services or references (for example, through a JCA adapter) in the SOA
Composite Editor or within a BPEL process service component in Oracle BPEL Designer. 

*

 A partner link type characterizes the conversational relationship between two services by defining the roles played by
each service in the conversation and specifying the port type provided by each service to receive messages within the
conversation. 
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